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1.4 More formula

(1) V(u+v) = Vu+ Vo

2)V-(E4+F)=V-E+V.F
B)VX(E+F)=VxE+VxF

(4) V- (uE) = (Vu)- E4+u(V-E)

(5) Vx (uE) = (Vu) x E+u(V x E)

6) V- (ExF)=F-(VXE)—E-(VxF)

(T)V x (ExF)=(F-V)E—F(V-E)— (E-V)F +E(V-F)
) V(E-F)=(F-V)E+ (E-V)F+F x (VxE)+Ex (Vx F)
(9) Vx (Vu)=0



(10) V- (VX E)=0
(11) Vx (V x E) =V(V-E) — V2E

2 Two functions

2.1 Gamma Function

Def.  T(z)= [ t*"le 'dt

Properties.

(1). I'(2 + 1) = 2I'(»), for positive integer: I'(n + 1) = n!
(2).T(3) =7

)1 (1) = 207 - e

2.2 Beta Function

1 _ _ x
Def.  B(x,y) = [yt M1 —t)""dt  B(z,y) = FTEY

3 Integral Formula

3.1 Gaussian integral
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3.2 Exp integral
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3.3 Trigonometric integral
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3.4 Exp&Trigonometric

e’ cos(bx)dx

/ e~ae” cos(bz)dx =
0
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4 Series

(1).sum
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S k=142t 43+t = Ln(n+1)(2n+ 1) (3n? +3n — 1)

(2).Infinite Series:
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5 BkhiJift

R+ prR +qR=0

s v = o T . .
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